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e BER e EER e EER e EER
Fou 20,000 |=O0E 1,000 |#O8& 50,500 |f]O1h 3,000
750% 3,000 [=0E 1,000 |#O%ie 1,000 [#1OZE 5,000
HO&E 10,000 |=0& 500 |# Ok 500 |#O& 2,000
701 10,000 |=0O% 100,000 |# O3 5,000 HOfE 2,560
el Ok 3,000 |=0i& 1,000 |#OfH 300 |05 138,990
a0k 7,000 |=O#& 5,000 |#O& 1,000 [#O#x 1,000
EO& 2,000 |=O=% 3,000 [#AO0E 1,000 HO% 1,500
408 6,000 (=05 10,000 [#*O& 1,100 [#O= 2,000
Fou 1,000 [ZRO/D 1,100 [#OF 2,000 [HOZ 10,000
TO7T 2,100 [ROH 500 | MO 100,796 1O 2,021
FO1- 1,000 [ROZE 1,100 |# O 500 [#HO% 2,000
F0OI& 7,500 [RO= 25,000 |#OZ 1,000 [SBO0% 6,000
F0OFE 1,000 [ROE 1,000 [#ROffk 1,000 [380F% 5,000
TOFE 6,000 [ZFO# 50,000 [#*O/x 10,000 |{RO#%= 1,000
F0hH 3,600 |ZFOHf 1,000 [#rO3 3,000 |EO 3,000
FOF 2,000 |Z=0= 3,000 [#2O& 9,000 [E0& 18,000
FO=E 2,000 |Z=0O%R 2,000 [*O%= =0% 3,000 [#EO1T 12,000
0% 2,000 [ZO# 1,000 |# O 3,000 [#ROH 2,000
FO# 1,000 [ZO% 4,000 (MO 3,000 |%RO5S 11,000
EO)= ] 3,000 |ZO# 1,000 [#OF 10,000 |#ROE 24,000
FO&T 10,000 |Z=Ogf 3,600 [#AOf% 5,000 |#ROFE 2,000
FOE 500 |Z0OF 3,000 |#MO%E 6,000 VRO 3,000
TOM 2,000 |FO&T 5,000 |#OZ& 5,000 [}ROE 1,000
TOT 5,000 [F0iz 2,000 [MOE 108,000 |FFO1% 1,000
101 3,000 |Z=O= 1,000 [#rO#F 196 |FOR 3,000
FO%: 500 |Z=0= 2,000 |#O#} 1,500 [S0E 5,000
OO 3,000 |FO& 1,600 |#OZ% 1,000 [§0X 500
HOFE 500 |05 24,000 |#O%& 3,000 [S0& 2,000
HOZ 6,000 |F0O= 5,000 [#*O&l 2,000 |50 1,000
HOOF 1,000 |Z0Oif 3,000 |#O#H 10,000 |S§0%5 500
EN O 3,000 |[FO= 100 |#O& 2,000 |20k 1,000
JLORA 500 |Z=O 1,000 |5ROzE 3,000 |EOF 1,000
TOE 500 [FO& 3,000 [EBOE 5,140 |5ROF EROF 30,000
1O 1,000 [FOE 6,000 [E8OO+ 155,428 [3RO# 5,000
JTO#E 1,000 |ZFO15 1,000 [BBOZR 10,000 |5RO3#k 1,000
£01 3,000 |Z=OX 12,000 |6BOZ 1,053,000 |3RO% 2,000
08 24,000 |ZFOMH 1,520 |AROZE 1,000 [5ROI 200
0= 1,000 |ZOif 1,000 [BBOE 1,000 |5ROAR 3,000
o 6,000 |Z=03% 2,000 [BEBO% 24,000 |5EO3H 3,000
FO5 6,000 |Z=O3F 10,000 [EROZ 15,400 [sRO#* 2,000
ROE 8,000 |ZOsi 1,500 |ASOFE 164,500 [5RO#E 1,000
ZOM 5,000 |Z0O 5,000 |5BO%E 1,000 [5&O3H 400
205 1,000 |Z0O% 300 | ROk 5,000 |5R0% 1,000
0L | 500 |JLO= 500 |0 1,000 |50 1,000
20E 20,000 [MtO%2 3,000 |#&=Ota 6,000 [5RO=E 5,000
F0ZE R0% 1,200 |BOE 2,800 |A0Ok 5,000 [sROZE 6,000
20¥& 1,000 |#O= 5,000 |Z=O% 1,000 [5ROJE 1,000
F0# 1,000 |#OHA 4,000 |=0 3,000 [sEO= 2,000
20& 36,400 |#2O5 500 |MiOR 6,000 [SROF 4,000
R0& 500 | MO 2,000 [0 12,000 [EOH 3,000
Z0[H 1,000 |RO%E 1,000 |%50%E 500 [#BO 15,000
O 500 |FROZE 1,000 (%05 3,000 |EfOK% 1,000




HORE 500 [RO%= 1,000 [BO% B0 12,000 [HO& 1,500
HOP 500 [BROR, 1,502 |04 10,000 |&O%| 5,000
FHOH 2,000 [RO>K 10,000 [BO# 600 |EOE 3,000
HEORS 2,000 [BOF 10,000 [RO% 2,000 | O 2,000
HOE 1,000 [BRO¥ 1,000 [EO% 2,000 [EO% 3,600
0% 3,000 [EO% 2,000 [ZO 2,000 [70% 16,000
FrO% 1,000 [EO% 1,000 [EOM 2,000 |70 500
EOm 14,000 |07 24,500 |05 1,000 [#OR 200
EOT 5,000 [&20% 1,000 [BO% 9,700 |0 179,400
EOR 50,000 |50 1,000 |[EO% 6,000 |02 1,000
O 500 |ZO% 3,000 |[EO%) 500 [#A0% 00} 7,200
00%) 3,000 [&O1A 2,000 [EOX 500 [8E0% 500
=50 24,000 [Z0HE 2,500 |05 5,000 [E£Of] 600
SROPE 4,000 [0%= 12,000 |0 3,000 [FO% 6,000
BOTA 30,000 |[B0O% 5,000 [BOE 2,000 [ZOM 20,000
=80T 3,600 [HO%E 74,600 |[BEO= 2,000 [BEO% 9,500
0% 1,000 (0% 6,000 |BO% B=0| 12,000 [BO% 3,000
8018 500 |[Z0& 33,000 [BOE 4,000 [#10% 50,000
Eo 3,000 [E0B 5,000 |05 5,000 [Z O8] 3,000
RO= 3,000 [EOF 1,000 |ZIO8 1,000 |80 500
BRO%E 14,400 [E20% 1,000 [ZIO% 100 |30 5,000
RO# 3,000 [E0E 1,000 |ZI0% 1,000 [E0% 2,000
ROX 30,000 [Z0% 1,000 [ZI0E 12,000 |EEO% 3,000
BOH 100 |Z0F 5,000 |ZI0% 5,000 |3205 4,500
BRO% 2,000 |20% 1,000 [ZI0¥ 1,000 [30% 500
RO% 500 |Z0% 1,800 |ZI0E 2,000 [ZO3E 6,000
RO% 1,000 [E07 1,000 |ZIOk 100 [#0& 100,000
ROE 2,000 |[Z0= 1,000 |ZI01A 10,000 [&O% 1,000
B®O% 5,400 [Z02 100 |EROE 120,000 [BO% 1,000
ROZ= 1,000 |Z0% 1,000 0% 38,345 |[#0% 600
ROZ= 12,000 |E0& 66,200 [Z0%# 3,000 |#0% 10,000
RO 800 [=0tB 2,000 [E0% 1,000 [&O% 2,000
BROM 20,000 |Z0& 500 [220% 500
ROR 1,000 [EO0E 1,000 |20 12,000
RO 3,500 [E0Z& 12,000 [ZO% 80,000
RO 5,000 | =07 BBOkz 500 |20 5,500
RO 1,000 [20& 18,000 |Z08 600
BO%E 500 |Z0% 15,000 [20% 500
ROR 1,000 [£0% 6,000 |EO0% 500
ROEE 3,000 [E0% 3,000 |[E50%E 10,000
ROZ 1,000 [Z20F& 6,000 |BBO%I 500
RO 523,000 |Z0Z 1,000 |#6O)1] 5,500
RO%= 1,000 |Z02 500 |&50% 1,000
ROZ 2,000 [B0%= 2,000 |BBOEE 12,000
ROE 500 [BO%I 100,000 |B50= 1,000
RO 10,000 [BO% 1,000 |#O1A 5,000
ROR 100,000 [B0% 1,000 |BSOH 100,000
BRO% 2,000 [BO% 3,000 [B0E 3,000




2024 ELFEKREBEMAR

E#E £
NNEIEEARAD 210,000
216 S K <L 20,000
‘*ibﬁ/\?ﬂnﬂi 25,000
SltEieE £L/)\d 8,000
AELFTEAE 1IQEBF<'/\T 3,000
B BERER N BRATD 60,000
RAEBIRBR I BRAE] 300,000
HEmBRHERAD 100,000
FERBBRNHERAD 100,000
AMEERBRAE] 150,000
WABIRAT 8,000
EERERHERATD 120,000
PEIEAXERREEEESE 220,000
PEEAADPEEBHCED 26,000
FEIEALUKREERET /D 2,050,000
BEVEALCKRE B/ NEMD ) 50,000
PEIEAGHIRT AZEEEEE 20,000
MEIAANXK A SR ESE 80,000
MEEAKERZREESS 1,200,000
MEZAREENALREEE 20,000
MEVEABRKGESE 200,000
MEIEANBAXAEEE 160,000
MEZEASERAREEXNHLEEEE 150,000
MEIEAEEBIRNREESS 1,000,000
MEZIANEEBHEER VM EIESE 600,000
MEIEAEAZREEEE 100,000
VMEZAEBMELZRIEZSEESS 150,000
MEIZEAZIITIRBNEEZESE 100,000
MEIZAZIHEZ 0HERIESE 100,000
SEMY AR P2F2) 2,000
BIZRHERFRTRAUE A anGtEESEEER 100,000
SBEERAT 20,000
e NN 800,000
I EAmBR N ERAD 20,000
ERBREENBIRAT 90,000
Eafﬁ%r%zﬁ[ CBRNBIRAT 60,000
BABUEZESTHARAG 500
S1bmI7EELLE 500
SEESRIMRNBIRAT 190,000
BRI BRATE] 100,000
EmEHARAT 1,500
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